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Enquiries to an on-line computer
messages received through each







Question 12 Consider four computer firms A, B, (
Not yet bidding success of these firms sh

answered P(A)=0.35; P(B)=0.15; P(C)=0.

P°o'g"°"t°' Before the decision is made to av
! probabilities of winning the bid for

Select one;
a







Question 18

Not yet
answered

Points out of
1.00

Suppose that each child born to a couple is equally like
sex distribution of the other children in the family. For a
probability that the two oldest are girls.

Select one:
@ a.8.25

@ b.0.33333




